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QUESTION ONE
1.1
111 @)
= 3* v 1A for simplification
=81 v 1CA for correct answer
OR
o
= 0 |
= 81 T v 81
OR
-2
bF ‘5
- 34
= 81 v 81 (2)
112 2 ;1 2
g gmcRLl v Same bases
= § 2 55,2
= 50 v 50 (3)
1
1.1.3 i - i 1) | v Factorising
2r (27
= -3 / Simplifyi
= = imphifymng
2
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(P

_3-V6 2
a2 T2

W72 ..9dm
4

LHS = 2236 V2

N2 2
9v2 - 312

12

3(vZ - 243)

124

W2 - 243 _

4

RHS
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v" 1CA for factorisation

v 1CA for rationalising
v" 1CA for correct simplification

v’ Rationalising
v Multiplying
v Factorising

)
[11}
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QUESTION TWO

21

2.2

211 x=0 or x=1

2.12 5825 - 3x - 4=0

< b= dae
24

-(=3)xy(=3) - 4(5)(-4)
2(5)

= 1,24 or 0,64

e
{

213 Jix+2=2x

7x +2 = 4x°
42 « Tx -2=0

(dx+ 1) (£~ 2)=0
=1

e

xX= 4 or?2

SS = {2}

X=0-y

(6~ + 2(6-3)- 82 = 0
36-12p + 37+ 12y =217 - 8P = 0
-0 + 36 = 0

V-4=0
O-00+2)=0
y=2 or y=-2

x=4 or x=4§

OR  y=6-x —(3)
S +2x(6-x)~3(6mr}3 = {)

x4 12x - 2x° - 3(35“. F2x rz): U

-+ 12x - 288 4 96x ~ 8x7 = 0
~9x° +108x - 288 =0

2 B f B9 mel
(x-4)(x-8) = 0

x=4 or x=8§

y=2 or y=-2

ik e

v'v" Answers ()

¥ IM for correct formula

v 1A for substitution

v 2CA for each value of x (4)

v 1A for squaring both sides

v ICA for correct factorization

v' 1CA for both values of x
v 1CA for correct solution {(4)

v 1A for making x the subject
v' 1CA for substitution
v' 1CA for simplification

v 1CA for correct quadratic

v ICA for correct values of y

v 1CA for correet values of x

v’ Making y the subject
v" Substtution

v Simplifving

v Standard form

v - valies

v y-values (6)



2

2.4

~2x(x-3) % 4
-2 4+ 6x-4 % (

AR
(x-2{x=1) 2 0
CVs x=2 or x=1

SS x¢€ R {xZ 2}V U (x5 1)

241 m4+6<

m < —h

242 x*-5x+p=0
b* —dac>0
(=5) - 4Q)(p)20
25—-4p 2
-4pz=-25

2
pﬂﬂfur 6+

|

v 1A for writing in standard form

v 1CA for correct factors

¥ 1CA for cach correct value of ¥ (4)

v m+6 < {
v Answer (2

v 1A for 20

v 1A for correct substitution

v 1CA for correct answer (3)
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QUESTION THREE
5. m= t_HJ v'v' 2A for correct answer (2}.
3.2 4 7 14 25 40
Ve R
3 7 11 15 v" 1A for finding the difference
L e N Y
4 4 4
2a=4
a=2 v’ a-value
3a+b=3
b o= v' b—value
a+b+c=4
= v c—value
Tw = 2n*-3n+5 _ | ¥ Answer (4)
3.3 T, of Ist difference = 4n -~ 1
T,, b T,;._[ = 87
4n-1 = 87 v T, = 87
n = 22 v H= 22
T}j — ?3_3 = 87
Toa=2(22) - 3(22)+ 5 = 907 v Ty value
Tos = 2(23)* — 3(23) + 5 = 994 v Ty value
OR
Tp = 4n - | v" 1CA for finding the nth term of
the first difference
87 = 4n- v 1CA for correct substitution
22 = n |
The 22™ and the 23" terms v 1CA for each term 4)
3.4 T,=4855
2n* - 3n+5 = 4855 v Tn=4855
2n*-3n -4850=0 v’ Standard form
2n+97) (n-50)=0 v" 1CA for correct factorization
n =50 v' 1CA for correct answer (4)
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QUESTION FOUR
41 C = (6+4;—5+5J
2 2
__.[E.EJ
2"
= (5;0)
1 -(-5
4.2 =
"ire w2
_ 6
~12
s
2

43  y=mx+c

1L 1
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=:—1—6)+C OR -5=4l
7 :

E=-.-2 E=—2
-1

e AU

ar

y-1=-_-—1x(x+ﬁ)
2
- ]
-l=—x-3
d 2
*ix—E
dal

OR y+5=—2—](x-—~ﬁ)
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v lAfor5and v |A for O

v" 1A for correct substitution

v 1CA for correct answer

v 1A for correct substitution

v 1CA for correct value of c

v" 1CA for correct equation

v" 1A for correct substitution
v" 1A for simplification

v ICA for correct answer

v" 1A for correct substitution
v" 1CA for simplification

v" 1CA for correct answer

|14]

(2)

(2)

(3)
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Aalics

44 PR= (x,-x)+(y, - n)

= J@+6F +(5-1)
= 116
= 229

45 B = (0;-2) and C=(5; 0)

~BC= {(5-0) +(0+2)

= ¥29

~.PR=2BC

46 B =(0.-2)

. BC // PR (equal gradients)

47 tanf=m
tand = -5 [RA = 78,7°]
6,=1013°
tandl = m
tand = 3t [RA = 26,6°]
. 6, =153,4°
Sao=s21T

48 My =—

~ M Laline =2
y=mx+c (=6;1)

2(-6) +¢ }

]l =
¢ = 13
Ly = 2x+ 13
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v' IM for formula

v" | A for correct substitution

v 1CA for correct answer (3)

v’ 1A for co-ordinates of B

v' 1CA for correct substitution

v' 1CA for cortect answer

(3)
v" 1CA for gradient of BC
v' 1CA for gradient PR
v" Equal gradients (3)
v’ 1A for 78,7°
v 1CA for 101,3°
v' 1A for 26,6°
v'v' 2CA for correct answer (5)
v" 1A for gradient -
v" 1CA for correct substitution
v 1CA for ¢ value
v" 1CA for correct answer (4)
[25]
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